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import cv2

Import numpy as np

v = cv2.VideoCapture(0)
r, f =v.read()
If (r ==False):

exit()
print( f.shape )
print( f.ndim )
cv2.imshow("", f)
cv2.waitkey(0)
v.release()
cv2.destroyAllwWindows()
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cv2.imshow(™, f[:,:,1])
cv2.waitKey(0)
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cv2.imshow(", f[:,:,2])
cv2.waitKey(0)
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cv2.waitKey(0)
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import cv2

Import numpy as np
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v = cv2.VideoCapture(0)

while(v.isOpened()):
r, f =v.read()

If (r==False):

break
cv2.imshow("™, ) EAXRRTIE
if cv2.waitkey(L) & OXFF == ord(q): IW—=TZ1T5

break

v.release()
cv2.destroyAllwWindows()



